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MATHS WORKSHEETS FOR CLASS 3

WORD PROBLEMS

i) Samuel baked 81 cakes. How many more cakes does Samuel

have to bake to have 123 cakes?

i)  Willy has 1,400 crayons. Lucy has 290 crayons. Jacob has 7 crayons.

How many crayons do they have altogether?

iii)  Harry had 789 broomsticks, but he lost 243 of them.

How many broomsticks does he have now?

iv)  There are 20 students in Grade 1, 54 students in Grade 2
and 76 students in Grade 3 in a School. What is the total number of

students in the school combining all three Grades?

V) An archer had 156 bows. But he used 83 of them.

How many bows is he left with now?

vi)  Chota Bheem likes eating fruits. He bought 15 apples,
18 pomegranates and 22 oranges. What is the total number

of fruits he has now?

vii) There were 870 passengers on a bus. At the next stop,
430 passengers got down at the next stop.

How many passengers are there on the bus now?
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ANSWERS

i) The number of more cakes Samuel needs to bake:
123 -81 =42 cakes

ii)  Total number of crayons: 1400 + 290 + 7 = 1697 crayons

iii) Number of broomsticks left: 789 - 243 = 546 broomsticks

iv) The total number of students in the school
combining all three Grades: 20 + 54 + 76 = 150 students

v) Number of bows he is left with now: 156 -83 =73

vi) The total number of fruits he has now: 15 + 18 + 22 = 55 fruits

vii) Number of passengers left on the bus:
870 - 430 =440 passengers
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